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Instructor: Mary Rébértson
Course: MAC 1105.5all-2046 MaryAnn  Assignment: Final Exam Review
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Student: <2 &/ L L
Mate:

1. Solve,

g y2 y+3 4y-3\ -
8

‘\:F\_d

The solution set is { }. :
{Simplify your answer. Type an integer or a simplified fraction.) -

2. Solve. : (;5’*& 3)(&)} (4’4) A,‘k"ﬁm) t-G
= fg) :j;
w Sw w-5 ,,sc,u‘v = .)fJ-—)}"(/g;,g} — FO¥ f,f) éx
— ? ‘ [ n 3 ou é.) j:;
w-2 5W=3 5,2 13446 (w-2Xz } %L/“ﬁ“} e QEJSJJ 5 -
, . L

Select the correc! cho;ce below and |f necessary, flli in the answer box to complete your chome fg( J e wvg*

@A w= Mg o

{Type an mteger or a simplified fraction. Use a comma to separate answers as needed.)

{3 B, The solution is all real numbers.
{3 C. There is no solution.

3. A freight frain leaves the train station 1 hour before a passenger train. The two trains are traveling in the same direction on
parallel tracks. If the rate of the passenger train is 5 mph faster than the freight train, how fast is each train traveling if the
passenger train passes the fre|ghi train m 8 hours? - {i’ :

How fast is the fre;ght tram travelmg’f‘

éf‘rf;:) mph

{Type an integer or a decimal.)

How fast is the passenger train traveling?

45 mpn 44 P
{Type an integer or a decimal.) T

4. Write the quctient in the forma+ b1,
(51 ?f’#— 45)
F ]
i’f4+4l {é;f 4;’,4,‘%

-
‘8%@3{

4+41
(Simplify your answer. Type your answer in the form a + b 7. Use integers or fractions for any numbers in the expression.)

5. Solve the following gquadratic equation using the quadratic formula.

2x% - 2x+ 9= -0

{Use a comma to separate answers as needed. Type an exacl answer, using radicals as needed. Express compilgx "
numbers in terms of 1,)




T

Select the con‘ect chosce beiow and f[" in any answer boxee in your chorce

6. The length of a rectangle is 27 centimeters less than five times its width. Its area is 56 square centimeters. Find the

dimensions of the rectangle W - L ,g,

The width is /7 cm. 5:/ (55{)*" 2 :”} 5&

_““_"‘_‘“Cf? Ju) = 2Tl 5 5
The length is cm., JM - J}”" & é: L
() 7" 5’ Ved — 47
(‘ \%’
7. Solve the equation. Y s &/ 9{*
Gt T
 AEx+E=6 Rl

The solution set is { \{ 1 -

{Simplify your answer. Use a comma fo separate answers as needed )
B. Sclve the three-part linear mequahty Graph the solu’uon set on a humber line and express the sclutionh using interval

notation, - 2 g«*kf’w B Z 4

~10=2x-5= 8
Choose the graph beiow
& A -5/2 11/2 {JB. -5 1112
€t -G > R e S
-7 0 7 -7 0 7
i C. : -512 11/2 (O D. -512 ;
ottt ol ——(———— )} DTN SURa————— N
-7 0 7 -1z 0 12
- t

The solution is [ Z /ig’]

{Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)
9. Solve the inequality. Express the solution using interval notation.

6= 4|1

% ,
@ A. The solution is i:

(Simplify your answer. Use mtegers or fractions far any numbers in the expression. Type your answer
in interval notation.)

{3 B. The solution set is @.

10. Find the midpoint of the line segment joining points A and B.

A(5 4) 3(4 7)

The mldpomt is (2 52, . (Type an ordered pair. Simplify your answer.)

11.

N e Y
Find the distance d(A.B) between points A and B. @‘g f ( /- f) ﬁ% */‘S

A(1,1), B(-1,-8) ﬁ{—z)+ ( ()a.
dAB)= YES =

(Simplify your answer. Type an exact answer, using radlcals as needed.)




12. Find the center, radius, and intercepts of the circle below
and then sketch the graph of the circle.

s 3y 6 =81

The center of the circle is ( -3- é) :

(Type an ordered pair.)

The radius is ﬁ . Lo

(Simplify your answer. Type an exact answer, using
radicals as needed.)

Select the correct choice below and, if necessary, fill in the
answer box within your choice. ‘

Py
@ A. The x-intercept(s) is/lare ~3 % *f; I/W : e U =0 f?
(Use a comma to separaie answers as te answers as needed. Type (X -+ 3} + [ o Wa)
{0 B. There is no x-intercept. ;{f‘-l PR R

f"? . - ’Wl} = dg
Select the correct choice below and, if necessary, fillinthe | ¥ ¢} = 7"

answer box within your choice. :
Y we ¢ *m 2%

@ A. The y-ntercept(s} isfare é ér X + f/’“ ? gp
(Use a comma to separate answers as needed. Type ﬁ' = & - S

) B. There is no y-intercept.
| —é%@fﬂﬂ“ﬁ*ﬁfp ﬂ

{ Use the graphing tool ta graph the circle.

. Use the intercepts to graph the equation.

X = 3y= -8

Use the graphang tool to graph the IIHE{
X"'— M M%‘j?_ o Lt

y - 3lo)s =¢
o = fy
14. Use the given conditions to write an equation for the line in slope-intercept form. o _,_’.: Ly 7 ﬁj*fﬂ ® i/ K= f)
Passmg through (3 6) and paraiiel to the line whose equation is Bx— 4y 7 j = ;i”/ ?} Ej L "é A :w
Wnt;:-an eql)latmn for the Iine in siope-mtercept form . :{j - »5’ k’ - g é% = “3 X % m::?'
3, 2 .,A’ ;3 by & éf:;?, Py

{




Use the given conditions to write an equation for the line in slope-intercept fom. ﬁj ~/= 5 X+ g)
5 1 -t “"_;‘{i - .f:ii?
Passing through { - 3,1) and perpendicular to the line whose equation isy= —6— -2— of 5T 5
. L l (1& f &
Wnte an equatlon for the Ilne in siope-lntercept form W‘ \g
- @ ¢/ 3

‘1 X5

(Type your answer in slope-intercept form, Use integers or simplified fractions for any numbers i thig gquation. )

a) Determine if the relation is also a function.
b) Give the domain and range of the relation or function.

{(4 2) (80 27) (6 5) @, 7) (3 6)}

a) ls the relatlon a functzon'?

3 No

-

& Yes

b) List the elements of the domain. Choose the comect answer below.

3 A D={-2, 0,6, 8, 3}
(JB. D={2, 9,4, -2, 0}
@C. D={294,6,8,3)
) D. D={-2,0,7, 5, 6}

List the elements of the range, Choose the corect answer below.

YA R={2, 9,4, 86,8, 3}
(1B, R={-2,0, 6, 8, 3}
@ C. R={-2,0,7,5, 6
CyD. R={2, 9,4, -2, 0}

z — N
Evaluate the following function at the values 1, —1, and x — 1. 1005 (=3 ) T CN=3

= e -2
=3 o ey m e
f(i)- = ﬁ (Type an mteger ora snmpllfaed fraction. ) E j{,’-«r- P 3}2
- = i o S
f{(—1)= Q (Type an integer or a simplified fraction.) X2

2
fx—1)= K - Zx - 2
{Simplify your answer. Type an expression using x as the variable. Use integers or fractions for any numbers in the
expression.)




18.

Determine the difference quotient

fix)= 12 7x

Flrst detenmne f(x + h)

fxshy= /=Py =Th

(Simplify your answer.)

Next, determine f(x).

= 1d= Y

(Simplify your answer.)

Now, simplify the expression fx+ h)—f(x

fxrhy-fo= = 7h

(Simplify your answer.)

Finally, determine the difference quotient

. -7

f(x + h) -

h

f(x)

(Simplify your answer.)

fx +h)—f(x)

- Fcen)= f’s« 7"%@;’“3

erp

P

(;7 -y ’/éj (/f 7%”)

o e Pl = P2 T

£+ h) — f(x)
——

i

wﬁﬁ wo ;f

b

Determine the interval(s) on which the function is (a)

hY

(8,3)

increasing, (b) decreasing, and {c) constant.

| S A S
8 12 16

(7.-4)

' (a) Select the comect choice below and, if necessary, fill in
' the answer box to complete your choice.

i

f @ A. The function is increasing on the interval(s) C 0 5 )
(Type your answer in interval notation. Use a commé

: (3 B. There is no solution,

: ¢ (b) Select the corract choice below and, if necessary, fill in
! the answer box to complete your choice.

(5,17)
A. The functlcg is décre)ésr'r!}g on the ntervai(;)\\g

{Type your answer in interval notation. Use a commi

{1 B. There is no solution.

{c) Select the correct choice below and, if necessary, fill in
. the answer box to complete your choice.

@ A. The function is constant on the interval(s) | 7 oo
j (Type your answer in interval notation. Use a comm:
1 {) B. There is no solution.




]

20.

{a) For what value(s) of x does the function abtain a relative .

minimum?
{b) Find the relative minimum value.

{c) For what value(s) of x does the function obtain a relative 5

maximum?
{d) Find the relative maximum value,

(a} Select the correct choice below and, if necessary, fill in

the answer box to complete your choice.

&@ A. The function obtains a relative minimum at ™ Qy

(Type an integer or a decimal.)
i) B. There is no solution.

{b) Select the correct choice below and, if necessary, filt in
the answer box to complete your choice.

& A. The relative minimum value is =
(Type an integer or a decimal.)

{"t B. There is ho solution.

{c) Select the correct choice below and, if necessary, filf in
the answer box to complete your choice.

@ A. The function obtains a relative maximum at ™ Q

{Type an integer or a decimal.)
() B. There is no solution.

(d) Select the correct choice below and, if necessary, fill in
the answer box to compiste your choice.

) A. The relative maximum value is 5
(Type an integer or a decimal.)
{3 B. There is no solution.

by

1.1 X

4 8 12 16 20

1 (:2-4)




21

Sketch the graph of the function and identify the properties that apply.

o) =x x

Choose the correct graph of the functson.

@ A O B,

Is the function f an odd function?

@ vyes

3 no

Is the function f a finear function?
& no

) vyes

Is the range of T { — o0,00)?

3 C.

fey=5"

What is the rule?

LA,
; fx) = {x-ﬁ-z

" fix)= {
f(x) = {x+3
{x+3

fix)=

if

2
5K
i
if
if
5 if

xs1

x>1

-8=x=<1

x> 1

~B<x <1

X<t

Xx>1

Xzt




D=4
23 4. For the function f(x), find (1), f(~ 1), and (2). [ O [ #x-4itxst ,,«;7
Sketoh the graph of f e = s
b. Sketch the graph of f{x). / x+2 ifx>1 1 f
i

a. Find f(1), f( = 1), and (2). 3
f(1)= Simplify your answer. Type an infeger or & fraction. 1
m _Q__*_“__ (Simplify y yp g ) W"f’% .
f(-1)= ~ g (Simplify your answer. Type an integer or a fraction.) ?7

— 4
f2)= I7L (Simplify your answer. Type an integer or a fraction.)

b. Sketch the graph of f(x). Choose the correct graph below.

@ A (} B. O cC. (D,

24. Use the graph of a known basic function and a horizontal shift to sketch the function. % e ‘o 4,
T{aﬂk . fff:'#’&‘z S oap e E WHE meve V tapada Xt

. - T P o

o= 577 panenl fee &

Choose the graph that best sketches gfx).

0 A. @ B. : ) D.
¥ ¥ Y Y
10 10 10 10
X X x x
1 10 -10 10 -10 10 -10 10
-10 -10 T -10 -10




P

25,

The point { — 1,2) shifts to which point on the new graph?

Let y = f(x) be the function sketched on the right.
Use this graph to sketch the graph of
= f{x — 3} — 2. Determine the four points on the new

graph. \L \j

3 e a,(l_,” A Aprgpcis

( ﬂf © ) (Type an ordered pair.)

The point (0,0) shifts to which point on the new graph?
( A . -l \g {Type an ordered pair.}

The point (2,1) shifts to which point on the new graph?
( 5 | (Type an ordered pair.}

The point (3, — 1) shifts to which point on the new graph?
&,75 (Type an ordered pair.)

Choose the correct graph below.

@ A O B. ) C. ) D.

28.

Evaluate (gf)(3) gwen that f(x) Vx-i- 6 and g(x) X% - 5. (jf}{a) %(5 ) "ﬁfj} %@ =

Select ’ehe correct chome beiow and fi" in any answer boxes in your cho:ce ‘
s = :?,eijf s e
“:*\ffﬁ“”w“"‘ | fry= 3-8

, v”Tz' P
@A @)= [ ¢ 14
{Simplify your answer. Type an exact answer, using radicals as needed )
() B. The answer is undefined.




27.

For the pair of functions defined, find f+ g, f - g, fg, and é Give the domain of each.
f(x) 4x + 5, g(x) X2 4

(f + g)(x) —f- Lf X 4+ l (Slmpltfy your answer) 42’ +5¢ )(

The domain of (f+ g)(x) is (”M R ) . (Type your answer in interval notation.)

f~gix)= “)(%f' L;/){'f‘ {Simplify your answer.) @X '?"5} - {Xa ‘%ﬁ-f"

The domain of (f—g)(x) is {y g, e j (Type your answer in mterval notation.)

fa))= o (Simplify your answer.) ( X+ 5)/ é{ ég\j‘

S ‘
= e tx ey - 20 |
The domain of {fg)(x) is ( o @@) . (Type your answer in inferval notation.)

; e#x +5 Sy pE
( J Z ‘% (Simplify your answer.) 1

f .
The domain of [-) (X} i85 o7 (Type your answer in interval notation.)

C?wzwz -> 0 (2,0)

=

2
. 4 &
Eﬁ z?’tﬁi’f%fﬁ*”ﬂvy”?”

28.

(ho(E)= 77 RE AT I hff 13} = idn

= - -1, h{x)=——. ‘\ ' - ey
Let f(x)= - 2x~ 1, h{x) s ( —Qym/ o “@?Mﬁ'/

Find h o (). (or)

{Type an integer or a simplified fraction.) = e N

&

—~2)+ 1

= -

=

29,

Is the given functlon a one-to -one func’non?

Determine whether the function is a one-to-one function. T
d;f)':fx? j

f(x = —~B|x|

@ No
)} Yes




30. Determine whether f and g are inverse functions by evaluating (f o g)(x) and (g o f)(x). 5 ?
, 6 5x—35 5
i fix)=—=x=7 and g(x)= .
° =T

i

What is (f o g)(x)‘? — ,fg{
ot

{fegix)= - { 25 {Use integers or fractions for any numbers in the expressicn, )(:? 2 jf,)f}@ ( ﬂgi; fj,.
& ;

What is (g o f)(x)?

{gofix) = ¥ & (Use integers or fractions for any numbers in the expression.)

Are f(x) and g(x) inverse functions?

@& No _
{3 Yes )
'/ Write an equation for the inverse function, and then state the domain and range of f and f AN
B
g’"
¢ &
= 3«/4x-5 X< Y q°
The inverse function is f 1(x)- %ﬁ* . X . J 3 &L e
(Use integers or fractions for any numbers in the expression. Simplify your answer.) }f AR 3 wzg"” o #

The domain of fis {—we, o= ) |
(Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

P

The range of f is ("O@ ) 2 >
(Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

The domain of f ™1 is (‘:”@@f QS?)
(Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

The range off 1is w
{Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)




32. First rewrte the given guadratic function in standard form
by completing the square, then address the following.

f(x)=3x% + 12x+ 7

‘Rewrite the quadratic function in standard form.
)= 3 (x+ Jl)z’”é"

a. What are the coordinates of the vertex?

The vertex is (_"2 ‘52
(Type an ordered pair.)

b. Does the graph “open up" or "open down"?

& opensup
(3 opens down -
Glxpay-5 =0
¢. What is the equation of the axis of symmetry? S e
: YREYE gradyE &
The axis of symmetryis X' = —Z . (vday= Tf(/;;

n eguation. ; .
(Type an equation.) xta=4[5.3
d. Find any x-intercepts. Select the correct choice below | 5 5
and, if necessary, fill in the answer box to complete your A Vi [
choice. P

(@ A jx=—0 |
o (Type an exact answer, using radicals as needed. Us :

i_3 B. There is no x-intercept.

e. Find the y-intercept. Select the correct choice below and,
if necessary, fill in the answer box to complete your choice.

@A y="]

(Type an integer or a fraction.)
{1 B. There is no y-intercept.

f. Sketch the graph. Use the graphing tool to graph the
function. |

g. State the domain and range in interval notation,

The domain of f is the interval C“‘"{?@! o §

(Type your answer in interval notation.)

The range of f is the interval ["6! o2 )
(Type your answer in interval notation.)

4

3

B v s ) p 7L

=
Gl +2) -8
. b
Y
(y-")
{ioy= 3o +2)-5
- 24y -5
= £ ;2_ "ﬁ

1




33. Given the quadratic fungtion in standard form, address the
following.

a. Sketch the graph.
b. State the domain and range.

f69= = 6+ 1) - O1) L s

a.Use the graphlng too! to graph the functlon a ﬁ \

varter (<11} y-ud' (0,-2) JaR

b. State the domaln and range.

The domain of f is the interval C—- o Qa} . - i
(Type your answer in interval notation.)

The range of f Is the interval (— oo | "{‘j ) 17 \ 4

(Type your answer in interval notation. _ V74

34. Atoy rocket is shof vertically into the air from a 8-foot-tall launching pad with an initial velocity of 136 feet per second.
Suppose the height of the rocket in feet t seconds after being launched can be modeled by the function -

hity= - 16t% + Vot + hy, where vy is the initial velocity of the rocket and hy, is the initial height of the rocket How Iong will

(%w £ take 20: ;P;—ezfsjgjt to reach its maximum helght‘? What is Fl?e maximum hexght’? h ( r:‘: ) ==/ 4, 74 4 / 5 éa Z’
The rocket will reach its maximum height in ‘ﬁf/ @5} b second( ) h = ‘%;% éu} 5 4, 5 gecel
- #
; . . S EFEG
The maximum height reached by the rocket is wﬁ?ff feet. '!i/ 4 (%gg;) = w‘;é(’%gr) 2434 (“,ﬁrx“gfg) AP

ﬁzﬁ’?}f (?afj;aﬂ

( wo. For the given rational function, answer parts a-c.
) ‘

52 - 121 Fo)

) = mesi——

a) Determine the domain,
b) Determine the y-intercept (if any).
c) Determme the x- mtercepts

a) The domain of f(x) is ( o2 0 UC@ o )
(Type your answer In interval notatton. Use integers or fractions for any numbers in the expression.)

b) Select the correct choice below and fill in any answer boxes within your cholce.

(O A. The y-intercept is y = _ve=< /za%ﬁl{(‘gf
(Type an integer or a simplified fraction. )
& B. There is no y-intercept.

¢) Select the correct choice below and fill in any answer boxes within your choice.
@ A. The x-intercepts are x = t / )¢

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
/ { B. There is no x-intercept.
X




36. Fallow the nine-step graphing strategy to sketch the graph of the rational function.

5
x2-16 £ O ,
S T Y :ffff e e
1. Find the dorrai, e
The domain of f is 6_0": ’%‘)U(_’% %’(}U{%’J; m} \

(Type your answer in interval notation, Use integers or fractions for any numbers in the expression,)

fox)=

2. Does f have any removable discontinuities? Select the correct choice below and, if necessary, fill in the answer boxes
to complete your choice.

2} A, There is a removable discontinuity at . {Type an ordered pair.)
The function simplifies to f{x)=

& B. There are no removable discontinuities.

3. Check for symmetry. Select all that apply. jc[x} = 1(1 (- f\’) B
o 2 .
,2, ;o {; ¥ )3 e Fila
[J A. The graph of f is symmetric about the origin. :'“M"& CLE
%l B. The graph of f is symmetric about the y-axis. ¥ -4 = 4) g e
. “E 5 ’
[T €. The graph has no symmetry. fj - K
4. Find the y-intercept. Select the comect choice below and, if necessary, fill in the answer box to complete your choice.
-:;5: 7%5) - wg‘{j:j = @mg
@ A The y-interceptisy= /& . {(Simplify your answer.) . Dt e

() B. The function has no y-intercept.

5. Find any x-intercepts. Select the correct choice below and, if necessaty, fill in the answer box to compiete your choice.

CER
() A, The x-intercept(s) is(are) x = ) e 7 . fote
(Simplify your answer. Use a comma to separate answers as heeded.) 5—*%4 oD Fe ot LA

@ B. The function has no x-intercept.

6. Find the equations of any vertical asymptotes. Select the correct choice below and, if necessary, fill in the answer box
to complete your choice.

@ A. The vertical asymptote(s) is(are) % % * ‘g’gﬁ .
(Type an equation. Use a comma to separate answers as neaded.)
{_) B. The function has no vertical asymptotes.

7. Determine whether the graph has a horizontal asymptote or a slant asympiote. Select the corect choice below and, if
hecessary, fill in the answer box to complete your choice,

@ A. The horizontal asymptote is }_/ = o . (Type an equation.)

(D B. The function has no horizontal asymptote. It has a slant asymptote of
(Type an equation. Type your answer in slope-intercept form.)

() €. The function has no horizontal asymptote and has no slant asymptote.

8. Plot points choosing values of x between each intercept and values of x on either side of the verical asymptotes.

Substitute the given values of x into f(x) and simplify. Uﬁ’/n—- g) = &5 - &

5, gE-te 7
(-5f(-5)=(-5_ 7 )
O.fM)=(©, -2/, )
(6fE)=(5_ 97 )

(Simplify your answers. Type an integer or a fraction.)



A Y
-6 | %
8. Complete the sketch. Choose the correct graph below. J
-5 /‘f
- €. o [
@ ac . i
o - ”://éf
AN YA
&1y

*37. Find an equation of variation in which y varies jointly as x and z and inversely as the product of w and p, where

.0 s _ _ 5. KYEYS) )
y—ﬁwhenxms,z~15,w—2,andp-—27. 7y (2}(3?)
e e L ‘ e e e s ,- .. _-,,---.- S ww{‘:;-‘x:_ 7'.‘:::‘_,___,. - L L b R, 5 w - \‘? 5} }&M . - o &? éﬁ@ g, - -
The equation of variationis y= 37775 . N “3_%,, / 5 5 0}< ,,2 f‘ d? ffj Ty 5

(Simplify your answer, Type an integer or a fraction.)

exponential functlon Determine the domain and range.
Also, determine the y-intercept, and find the equation of the
i horizontal asymptote. ;

f(x) 2% +3

; Use the graphmg tool to graph the functlon :

What is the domain of f(x)?

(co, o°)

(Type your answer in interval notation,)

; What is the range of f(x)? 1
s (3 00) i
(T ype your answer in interval notation. )

What is the y-intercept?

(Simplify your answer. Type an integer or a fraction.)

What is the equation for the horizontal asymptote?

g = 3 {Type an equation.)

S




/ Fa .
exq.7 e~ a
39 Use the graph of y = ¢ * and transformations to sketch the -

exponential function f(x)= ¢* + 7. Determine the domain

and range. Also, determine the y-intercept, and find the
equation of the horizontal asymptote.

Ay

Use the graphing tool to graph the function.

What is the domain of f(x)= e* + 77

C“oo ; & )
(Type your answer in interval notation.)

What is the range of f(x)= ¢* + 72

(}? 00)
—
(Type your answer in interval notation.)

What is the y-intercept of f(x)= ¢* + 77

(Type an integer or a simplified fraction.)

What is the horizontal asymptote of f(x)= X + 77

—
—

(Type an equation.)

{ Y Solve the exponential equation using the method of "relating the bases" by first rewriting the equation in the form b" = b".

P -2
x—‘] 1 02 = g
2 ==
R = Lt S .
x= =] &=~
— 2.
41. Evaluate the logarithm without the use of a calculator. [I"Qj é;, - - A
6 :
| 1
og o —
9636

e

1
log ﬁ"é"é" =




42. Sketch the logarthmic function. Label at least two points
on the graph, and defermine the domain and the equation of
any vetlical asymptotes.,

f(x) = Iog (x 2)

Use the graphmg tool to graph the functlon

Two points on the graph of f(x)= log {x = 2) are

( 24 0) and ( )

(Type exact answers.}

Determine the domain of f(x).

The domain of f(x)is (<, <°
(Type your answer in interval notatlon.)

Determine the equation of any vertical asymptotes. Select
the correct choice below and, if hecessary, fill in the
answer box to complete your choica.

& A Z = 2. (Type an equation.)

(3 B. No vertical asymptotes

43. Use the properties of logarithms to expand the !oganthmlc expressmn Wherever possibie, evaiuate logarithmic

expressions. ﬁﬂ,d— ¥ 4 /s é . ﬁg ‘?

" a4b6
R
(Type an exact answer in simplified form.)

ﬁfﬁ«?"ﬁ 4 é.&f} @ - h?“g” - f(
a4b_é L e
In[ 3 ]=

B it

szt mimetn

B
44, Use properties of logarithms to rewrite the ?pressmn as a single logarithm. Wherever posssble evaluate ioganthmlc

exprleosgst):; “&ﬁ# ) JZ(D?# ( A g,e{‘) ﬁgﬁéff ‘fr’f ff \g J*‘f"

- log 45

N R -V
1094320 Iog45— S =Ff

45. Use the properties of logarithms and the logarithm property of equallty to solve the logarithmic equation.

I093(2x+3) Iog39 ﬁ}q" -+ 4 j;'-’
x= “&? P
(Type an integer or a simplified fraction.) f‘%

T

46. Use the properties of logarithms and the logarithm property of equahty to soiv.e the Ioganthmlc equatlon .

log ,(x +2)+log »(x - 3)= log »(2x + 4)
o 5 X3k 0 =0

(Type an integer or a simplified fraction. Use a comma to separate answers as needed )

( ﬁwYAfmfw ”‘. TS




7 Solve the logarithmic equation. 2 X Y = 5 -

N 2 wfb q
‘095(?”‘ 4)"2 A jéiy g% &= j_% e

Select the correct ch0|ce beiow and if necessary, flﬁ in the answer box to complete your cho;ce

2

& A, x= Wﬁ (Simplify your answer. Use a comma to separate answers as needed.)

{7 B. There Is no solution.

3 f,w S . e £
48. Solve the system of equations by the substitution method. &y # /(54 w”‘f&) Fovad " f € 54)
- 1 Ehw i r oy Ax+ TBK =33 = ~3Z 7 = 4@'
Sx-y=19 ¢ =/ /
xeTy= -2 J?”/i" w_,g?f g
The solution set is (Slmplify YOUF answer. Type an ordered palr)

48. Benjamin & Associates, a real estate developer, recently built 200 condominiums in McCall, Idaho. The condos were
either two-bedroom units or three-bedroom units. |f the total number of rooms in the entire complex is 516, how many
two—bedroom units are there? How many three-bedroom units are there? : x = Ao :J, = 4l

- - ’ N VPR PR o
There are 6"64 two-bedroom units and / f é:”“ three-bedroom units. b - £
A — Qv+ Zuy & 5l
- 9? Fa "i‘:j/ iy h-%‘fﬁ.ﬁ@;
50. Solve the system of linear equations using the elimination method. e

'g;ﬁ f!géf’
(D x+y+ z= =2 o

(D 2X-y=Tz= —40

K?ﬂ\'—x y 8z= -33

The unique solution to the system is ( . e . ).

O+ Q
Yy X J‘:} fE T

sl © i @

3k

(Type an exact answer in simplified form.)

O+E& (@hesir)

w P ¥

At ) e
/B e LD
/

£ e :j; ::;;
I éfﬂf'ﬁm = hf - l,i g
-6 = -y 7
x-30= -0 |
v
o B = 5’?{’;'5”% = =35
,_ @) = (-#) - (-3 - ¥4
sf:’ﬁ ;’[,,;, 3 i 3
A B Ll & 5 i



5[ ¢> College Algebra Final Exam Sample Question

Sketch a graph with the following characteristics:
*+ The graph is a function

% The function hasrange:  [-5, w) ‘
<% The function has x-intercept of (3, 0) AMdAt bl oy gﬁﬁﬁf
*»» The function has a relative minimum value = -2 e
— -5
1) State the domain of your function in interval notation (oo 2 w@)
2) Does your function have a relative maximum value(s)? @ No

If yes, state the maximum value(s) ,

3) State the interval(s) on which your function is:
Increasing: ( -4 ) 4) . (/ Pii . @3\}
J
t7)
7

3
[ 7

.
4%
Decreasing; (( oo, = o ]

Constant: Vs FL




